Problem 1: A farmer has 2400 m of fencing and wants to

fence off a rectangular field that borders a straight river. [’\’
He needs no fence along the river. What are the
dimensions of the field that has the largest area?
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Problem 2: Find the dm nsofth ectangle of

largest area that can be rcle of radiu Rb?ib“f
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Problem 3: Find an equation of the line through the point
(3,5) that cuts off the least area from the first quadrant.
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Problem 4: Show that of all the rectangles with a given
area, the one with smallest perimeter is a square.



